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BUS910 | 65.910 | Basic Fluency I 3:1:0(1) | &3w=| Spring, Fall
BUS911 | 65.911 | Basic Fluency II 3:1:0(1) | 83w=| Spring, Fall
Newspapers-Reading and Spring,
BUS912 | 65.912 W P p_ & 3:1:0(1) |&d3uW= Prng
Discussion summer, Fall
Spring,
BUS913 | 65.913 | Case Studies in English 3:1:02) |d3u= Prng
Summer, Fall
American Popular Cultur
BUSO14 | 65914 | o cam FOPWRADTUWIUIE 51001y | M2 04 | Spring, Fall
English
BUS915 | 65.915 | Business English - blended 3:1:0(1) | 83w=| Spring, Fall
BUS916 | 65916 |Real Life English 3:1:0(1) | 3= | Spring, Fall
English BUS917 | 65.917 |Job Search English Skills 3:1:02) | 831W= | Summer
ici Business English Writing - Spring,
Proficiency | gyso1s | 65.918 £ g 31001 | ®zpa| e
Course Blended Summer, Fall
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BUS921 | 65.921 | Listening Skills II 3:1:0(1) | 83w==| Spring, Fall
BUS922 | 65.922 | American Immersion I 3:1:0(1) | 83w=| Spring, Fall
BUS923 | 65.923 | American Immersion II 3:1:0(1) | 831 =| Spring Fall
BUS924 | 65.924 | American Classic Films 3:1:0(1) | 831==| Spring, Fall
English Debates & Critical Spring,
BUS925 | 65925 | oo oS & 3100) [HERA| PE
Communication Skills Summer, Fall
BUS926 | 65.926 |English for Financial Issues | 3:1:0(1) | 832 | Spring, Fall
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